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Candidates are required to give their answers in their
own words as far as practicable.

1. Answer any five questions: 2x5=10
@~ #Hofo dess Tex wie ¢

1)  Translate the following into standard form of

categorical proposition:

e AT S SFITEE DI sifdere 4

None thinks the fools great but the fools

themselves.
(PG S R 1 01 2 (@ oA el 2o |

11)  Give the contraposition of 'I' proposition.
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iii)

Vi)

vii)
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Draw a Venn diagram of the proposition:
"There is God'.

CoAbead TR Feare o aw F1:
EcEiend

Use truth-table to determine the statement

forms as tautologous, self-contradictory or

contingent :
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Symbolize the following, using individual
variables and quantifiers: 'Any tall man is

attractive if he is dark and handsome.'
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Give the schematic form and example of the

method of concomitant variation.
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Give examples of 'Good' and 'Bad' Analogy.
Ol g S SHANE Triggel i |
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viil) What is the probability of rolling two dices

so that the total number of the points that
appear on their top faces will be '9'?
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Answer any two questions : 5x2=10
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2.
1)
ii)

586/Phil

Test the validity of the following using Venn
diagram:

ceAbad M FeiResim tare Fda F3:
a) BRAMANTIP
b) EAO-3

Use truth-table to test the validity of the
following arguments :

STePIRAR AR Fva e @ael a2 ¢
a) (P>Q).(R>S)
QvS/:..PvR

b) P>(~QVR)
Q/..Ro~P
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111) Prove the invalidity of the following by
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assigning truth values :

ey St S0 fea e st ey 54 ¢

A>(B>~C)
(Do B).(EDA)
FvC

Go~H
(IoG).(H>J)
I=~D
(BoH).(~H>D)
E=F

State in brief, the criteria for appraising an
Analogical Argument.

FCEC CHANRG SRS Aewessier Srare 4 |
Determine the probability (any one) :
Iy e 71 (@-(FIE @) ¢

a)  What is the probability of getting three

red cards in three successive draws of

cards from a deck of cards?
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3.  Answer any one question :

b)

An urn contains 5 red balls, 7 white balls
and 3 green balls. Another urn contains
7 red balls, 5 white balls and 3 green
balls. If a signle ball drawn from each
urn, what is the probability that both the

balls are of the same colour?
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10x1=10
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Construct formal proof of validity (any two):

5x2=10

SIS (Fee] [ 2 (@ I vib) 2

a)

b)

T5(U.V)
(UVV)D W/ ToW

[Hv(Iv])]>(K 1))
Lo[Iv(IvH)]
~(LK)>]J
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iii)

586/Phil

Either it rains and spoils the picnic or it
does not rain. Therefore it is false that it
rains and spoils the picnic.
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Construct formal proof of validity or
invalidity: 5x2=10

NS (4l T S ILST ANS:

a)

b)

(x)(Ax D Bx)
(X) [(BX.AX) -] CX]
(x [Ax ) (BX.CX):I)

(X)(Px D~ QX)
(x)(Px o~ Rx)
- (x)(Rx o~ Qx)

Explain Mill's Method of Difference. 10
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